DACOUSTICS




1 Ara-Be | User Manual

Technical Specifications:

Frequency range : 45-30000 Hz +/-3 dB
Sensitivity (2.83V/1m) : 87 dB

Nominal impedance 40

Max SPL : 105 dB
Recommended amplifier : 40-150 W

Cross-over frequency - 2300 Hz

Speaker type . 2-way

Enclosure type . Bass reflex

Port tuning frequency  : 36.5 Hz

Drive Units:
- High frequency driver  : SATORI TW29BN / TW29BN-B

(Beryllium Tweeter)

- Low frequency drivers  : 6'2" SATORI MW16P-4 / MW16PNW-4
(advanced midwoofer)

Cabinet:

18 mm MDF

Dimensions (H x W x D): 391 x 190 x 388 mm/ 15.4 x 7.48 x 15.27 inch

Net Weight (pair):
- Cabinet only : 8.06kg/17.77 Ib
- Full assembly : 9.6kg/21.161b

Special Features:

- Advanced high-end drivers.

- Faceted cabinet baffle for reduced high frequency diffraction.

- Inclined baffle for correct time alignment of drivers
(allowing for simpler cross-over design).

- Wedge shaped inner rear walls behind midwoofer for reduced direct reflections.

- Internal bracing to reduce and distribute cabinet vibrations and hence lower
sound coloration.

- Solid single-wiring binding posts.



‘suoposjjel/sapow woos Aq pasneo aie syead pue sdip Aousnbaly 1oMoT “WO0I AIRUIPIO UB UJ W | JE SIXE-O L0 PUE .G ‘SIXe-UO painsesjy
SIXe-JJO ,0¢ : ( pay ) —— SIXE-JJO G| : (usaI9 ) —— sixe uo: (an|g) ——
1 aMND asuodsey

ZHA0C 0L AS AT AL 00S 002 00l 0S 0t
0 or
_— e ~
L — P St
— =y T /

€l ] 0S
0z \ SS
Vx4 v 09
€€ S9

Ohm

0L

|

oy

i
\\

SL

Ly

€S

AN
Q)
\Q

77

A

» [ARAAASo AR IR \/ °
@ A ,ﬂﬂ /« //\\\ % 06
€L 56
08 W o0l

(9g-edy) asuodsay Aouanbaiy

©
S
c
©
=
=
9]
v
)
v
@
©
°
<




Mechanical Drawing (dimensions in mm).

Ara-Be | User Manual

44,4

388
340
|
wv
o <)
s @
T Sl g g o -2
,,\go) § ® ® 1
© Q
3 g
vl
- ;;E 8
7.3 | TR
A-A'
/\“:: ——— X-CUT
FOR
>( PAPER PORT
>

X-CUT EXAMPLE

330

8



17,5

Z'ge

Ara-Be | User Manual
45

‘V@,/.\,



Ara-Be | User Manual %

3
@ DETAILB i
SCALE1:2
®

ISOMETRIC VIEW

DETAILC
SCALE 1:4

DETAIL A
SCALE1:3 (B)

DESCRIPTION QTy. NO. DESCRIPTION QTy.
6.5" SATORI MW16P-4 / MW16PNW-4 (Sold 1 9 |Terminal Plate 1
Separately)
- 10 |Wood Screw 4x16mm 1
ARA Beryllium Crossover (Sold Separately) 1
11 [Hex Socket Head Screw M4x20mm 12
SATORI TW29BN / TW29BN-B (Sold 1
Separately) 12 |Hex Socket Flat Head Hex Screw M4x20mm 4
4 |SATORI TW29 Magnetic Grille 1 13 |Port Tube (@ 54x160x2t)mm 1
5 |SATORI MW16 Magnetic Grille 1 14 2" Port Flare 2
6 |SBA ARA Enclosure (Left / Right) 1 15 [Binding Post (+) (Red) 1
7 [Name Plate 1 16 |Binding Post (-) (Black) 1
8 |Insert Nut M4 16




©
>
c
I
=
S
I
wv
)
o
@
I
c
<

oL | 082 T 082

0S1

i L Ae

091

orl

ER= (OF|

0) 74

ove

08y

(ww ul suolsuswip) uidPed ) jeudleln buidweq



Ara-Be | User Manual

Damping Material Position (dimensions in mm)

DACRON 90z WHITE COLOR T20MM
SIZE: 280MM X 150MM (STICK ON

THE TOP OF CABINET) 2PC
DACRON 90z WHITE COLOR T20MM

SIZE: 705MM X 140MM ("U" FOLDED
AROUND THE TOP CHAMBER) 1PC

X-CUT

FOR
PAPER PORT

|

SRS |
|

) "
JREAARRANRARI LAY

R SRR TSR,
R R,
B S S S S S BEE
R

o
50:5%

S
R
SEAN
TR
O

R

%

R
S
e

%

2

5
R

R
%

R

SR %4
A
4'"'5};5,.'3‘4;3";@/‘;@5%«5,'-;@5";@

S

X

R
3
R

X
R
3
X
X

3
R
SRR

T
R

‘
R
X

RS

R
RS

R

X
R
o
R

<
S
R
R
R
AR
&
R
RS
R
K
KKK

R

o

X

3R
X
2
8
S
R
X
3

%
s
SRS
S
S
S
S
LR

%

&

K
R
R
R

R
R
SR

R
X
3
N
R
RIS
X
%

3

X
R

R

X

3
RS

]
R
S

AT
R

5

RS

R
X

R
RS
=
b
B
3
5
S

DACRON 90z WHITE COLOR T20MM
SIZE: 150MM X 110MM (STICK ON

THE SURFACE OF
ANOTHER DAMPING AT e
B R
VERTICAL POSITION) 1PC e
e 0 5%
s R o]
e A R A e ST A5
ks S Lt
b e
5% e
DACRON 90z WHITE COLOR T20MM Bosss s g
SIZE: 640MM X 160MM ("U" FOLDED e e e A A o R
e e s e 0 e 0 7% O 3
T 0 I
s e e B 0%

AROUND THE MIDDLE CHAMBER) 1PC

DACRON 90z WHITE COLOR T20MM
SIZE: 240MM X 110MM (STICK ON
DAMPING SIZE AND POSITION

THE BOTTOM OF CABINET) 2PC



©
=]
c
]
=
=
9]
v
)
)
@
©
c
<

#-(MN)d9LMIN

_ _H_| Ww 7' [ HW 250
- . AN
IM

MmoiL/ozcl

1<

MOL/T9S
%

N WEUVA

€0
ww '@ [ HW |

CAAA ]
1 €1
Jejodig / 4ri g9 _F_
r20)
MOL/T 6 z::&qu
vy A%
Ww 60 / HW 89°0 ¢ wiw 0@ / HW ZZ'0
(@) Na6zM.L z1 11C a7 3 o'

</ i MOL/T89 b mor/oze
— ANN ° : m AN
ML e 4

NI

9g-ely dijewayds§ JI9A0SSOoI)




9 Ara-Be | User Manual

Parts List (each cabinet):

- High frequency driver Satori TW29BN / TW29BN-B (sold separately)............ 1 pc

- Low frequency driver 672" Satori MW16P-4 / MW16PNW-4 (sold separately) 1 pc

- Ara crossover kit (Sold separately) ..........cocverirnirninnneee e, 1 pc

- Hex socket screw M4 x 20mm (for drivers) .........cooovvnnenneneenenceneenns 12 pcs
- Countersunk screw M4 x 20mm (for terminal plate) .........cccocovvivnininininnine, 4 pcs
- Wood screw 4 x 16 mm for crossover (from crossover Kit) ...........ccccoovriveenee. 6 pcs
- Insert nut M4 (installed on cabinet) ...........cccvvveeeiicesiceece s 16 pcs
- Stainless Terminal plate ..o, 1 pc

= BINAING POSES ... e 1 pair
- Seal gasket (for terminal plate) .........cccevvvreveriieceice e, 1 pc

- Port flare (installed on cabingt) ..........cccovveeviiecreiceeece e 1 pc

- Port paper tube (installed on cabingt) ..........cccoceevicciciccsccceece e, 1 pc

= DAMPING e 1 pc
=NaME PIALE ..., 1 pc

= TWEELET GMll ..ooee s 1 pc

= WOOFET GFIllE ..o 1 pc
Tools Needed:

- Hex key 3mm size (for driver screw).

- Hex key 2.5mm size (for terminal plate screw).

- Philips screwdriver no. 2 (for crossover screw).

- Hot melt glue gun (for attaching the damping and sealing the wire hole).



10

Ara-Be | User Manual

Assembly Instructions:

1. Take out the cabinet from
the packaging and take out the raw
damping material from the cabinet.

2. Cut the raw damping material
to 7 pcs of damping according
to the cutting pattern diagram.

3. Place the crossover on the bottom
panel inside the cabinet as shown.
Place the two big inductors towards
the rear terminal.




4. Mount the crossover with
the 6 screws supplied.

5. Pass the input wire through
the hole in the rear panel of
the cabinet.

6. Seal the cable hole with hot
melt glue.

Ara-Be | User Manual




Ara-Be | User Manual 12

7. Pull the tweeter cable through
the hole in cabinet bracing.

8. Place each damping part into
the cabinet according to position
the diagram. Add a bit of glue if
needed to hold the damping
material in place

Pass the input cable through
the terminal hole on the back
of the cabinet, and connect
them to the binding posts.




13

9. Mount the terminal plate to
the terminal hole at the back
of the cabinet.

10. Hook up the cable to the tweeter
and woofer terminals.

Ara-Be | User Manual




Ara-Be | User Manual 14

11. Carefully place the drivers
in the cabinet and fasten
the screws.

12. Repeat for the other cabinet
and your SB ACOUSTICS Ara Be
are now complete. Enjoy!




Find Us On

O f

www.sbacoustics.com Rev: (07.06.21)



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16

